The Association of Corporate Treasurers CPD Entry Test

Cashflow Forecasting

Worked Solutions

Question 1

XYZ PLC is a rapidly growing business.  Given the following information, how much would you expect the cash requirement to be next year?


Current Sales



500


PBT / Sales




10%


Sales growth




25%


(stocks + debtors - creditors)% sales
35%


Depreciation 




25


Capital expenditure next year

50


Tax to be paid next year


23

a) 4

b) 14

c) 19

d) 29

e) Don’t know.

Answer 

The right answer is (d) 29.


PBT on next year’s sales
62.50


+ depreciation
25.00


 increase in (st + drs – crs)
(43.75)


 capital expenditure
(50.00)


 tax
(23.00)

(29.25)

i.e. a requirement of 29.25

Answer (a) does not add back depreciation.
Manual V Ch 2

Question 2

Sales this year are £600M but are planned to grow next year to £800M.  EBITDA will grow from £120M to £150M.  In order to achieve this growth capital expenditure has been committed at £70M.  You know that next year the company must also pay £25M in interest and loan repayments and £15M in mainstream taxation.  Currently the level of (stocks + debtors – creditors) is 25% of sales.

In order to avoid a cash flow deficit next year what must the level of (stocks + debtors – creditors) be reduced to?

(a) 20.00% of sales

(b) 21.25% of sales

(c) 22.50% of sales

(d) 23.75% of sales

(e) don’t know

Answer

The right answer is (d) 23.75% of sales

Cash flow next year:





£M


EBITDA






150


Capital expenditure





(70)


Interest and loan repayments



(25)


Tax paid






(15)


Balance available for increase in (st + drs – crs)
40

Current working capital investment is 25% of sales, i.e. £150M

Maximum possible working capital investment next year is £150M + £40M = £190M


i.e. 190/800 = 23.75% of sales
Manual V Ch 2

Question 3

In analysing a company, what is the best measure of liquidity?

(a) Current ratio

(b) Acid test

(c) Cash flows

(d) Current assets less creditors >1 year

(e) Don’t know.
Answer

The right answer is (c) cash flows.

Answer (a) relies on stock and debtor values being realistic and is a static measure.

For answers (b) and (d) debtor values are still relied upon.  An increasing overdraft (giving liquidity) worsens these ratios.
Manual II Ch 1, Manual VI Ch 1, Manual VII Ch 1

Question 4 
Inflation for the last several years has averaged 3% and you expect it to continue at this level.  You are attempting to forecast your company’s annual level of ongoing capital expenditure assuming that the inflation adjusted asset base will be maintained i.e. that there will be no overall real growth in the assets.  On average the assets are depreciated over 5 years and their price levels are fairly represented by the inflation index. 

Which of the following would best represent the ongoing annual requirement for capital expenditure?

(a) 1.03 times depreciation

(b) 1.09 times depreciation

(c) 1.12 times depreciation

(d) 1.16 times depreciation

(e) don’t know

Answer 

The right answer is (b) 1.09 times depreciation

Depreciation will be charged in each of the 5 years as follows:





Cost

Annual depreciation







for asset bought this year
year 1

100.00

20.00


year 2

103.00

20.60
year 3

106.09

21.22


year 4

109.27

21.85


year 5

112.55

22.51






Total

106.18

If the equivalent of £100 assets were bought in each of the last 5 years, the depreciation charge would be 106.18.  The cost in year 6 of the equivalent assets would be 115.93.

Thus 115.93/106.18 = 1.092

Answer (c) is the relative cost of the year 5 asset

Answer (d) is the relative cost of the year 6 asset
Manual VII Ch 1

Question 5

Which measure would you use when trying to quantify the cash available to a company with which to fund its working capital requirement, capital expenditure, tax and dividends?

(a) EBITDA

(b) EBIAT

(c) EBT

(d) EBIT

(e) Don’t know.
Answer

The right answer is (a) EBITDA.

The letters stand for Earnings before Interest Tax, Depreciation and Amortisation.

Answer (b) is a measure often used in valuation, Earnings before Interest after Tax.
Manual V Ch 2, Manual VI Ch 1, Manual VII Ch 1

Question 6

You are required to make a £30M debt repayment in one year’s time and you are concerned that there will be insufficient resources available.

This year’s sales were £450M and they are expected to be £500M next year with pretax margins constant at 10%.  Depreciation was £18M this year and is going to be £20M next year.  This year the net investment in stocks, debtors and creditors was 20% of sales, but you expect a fall to 16% next year.  You expect capital expenditure to be 10% over depreciation next year.  Your effective tax rate (incorporating the effects of capital allowances) will be 30% and you know that you must pay this year’s tax charge during next year.  Finally, you know that dividends paid were £15M this year and that the growth expectation is 10% p.a.

After the debt repayment which of the following would you expect?

(a) Increase in cash of £2M

(b) Decrease in cash of £2M

(c) Increase in cash of £8M

(d) Decrease in cash of £8M

(e) Don’t know.
Answer

The right answer is (b) decrease in cash of £2M.


Sales 
500.0


PBT at 10%
50.0


+ Dep’n
20.0


Change in (st + drs – crs)
10.0

Capex
(22.0)

Tax
(13.5)

Dividends
(16.5)


28.0
(st +drs – crs) was 20% of 450 = 90.  It will be 16% of 500 = 80, i.e. a reduction of 10.

Tax is calculated by 30% of 45 (this year's PBT).

After debt repayment of £30M, there will be a cash decrease of £2M.

Manual V Ch 2, Manual VII Ch 1

Question 7

You have a cash forecast, using the receipts and payments method, for the next three months.  Which of the following checks would you carry out to make sure that the results are sensible?

(a) Check that implied borrowing is within limits

(b) Check the deferred tax calculation

(c) Check that depreciation figures are right

(d) Check that implied debtor levels are realistic

(e) Don’t know.
Answer

The right answer is (d) check that implied debtor levels are realistic.

One problem with this method is that when used for relatively long periods (as in this question) it can imply negative stocks or debtors.

Manual V Ch 2

Question 8

Put the following in order of increasing intensity of  (stocks + debtors – creditors) as a percentage of sales:



1   Food manufacturing

2 Chemicals

3 Food retailing

4 Brewing and leisure

(a) 3 1 2 4

(b) 3 4 1 2

(c) 3 1 4 2

(d) 4 3 1 2

(e) Don’t know.
Answer 

The right answer is (b) 3 4 1 2.

Manual VII for the ACT’s MCT qualification lists the following for (stocks + debtors – creditors) as a percentage of sales:

Food retailing
-6.2%
(They tend to have low stocks and no debtors)

Brewing and leisure
-1.3%



Food manufacturing
+6.5%

Chemicals
+25.3%

Manual VII Chapter 1

Question 9 
Your company has recently attempted a variety of methods to determine the cash flows over the next 15 days.  You have been charged with undertaking a regression analysis to calculate the percentage of value which can be expected to clear after a given number of days.  Before doing this you decide to attempt to calculate 5-day moving averages with exponential smoothing.

Cash flow over recent days has been:

Day 1
110

Day 2
120

Day 3
115

Day 4
122

Day 5
126

For day 6 you have forecast 118.6based on the moving average of the previous 5 days, but the actual outturn is 124.  If the smoothing constant is 0.4, what is the forecast for day 7?

(a) 121.40

(b) 123.56

(c) 120.76

(d) 119.84

(e) don’t know

Answer 

The right answer is (c)  120.76
Answer (c), the right answer, takes the previous 5-day average and adds 0.4 times the previous error of (124 – 118.6)
This is explained fully in Manual V Money Management, chapter 2.4.6, page 2.29. (or newer Jan 04 manual for Certificate of International Cash Management, chapter 13.8.2).  it uses the formula

F t +1 = Ft +a(xt –Ft)
Where F t +1 = Cash forecast for the period t+1
              Ft    = Cash forecast for the period t


    A   = Smoothing constant (between 1 and 0)


    X   = Actual cash flow for the period t

Answer (a) is the new 5 day moving average, i.e. the average of days 2 – 6 inclusive, without smoothing.

Answer (b) is answer (a) plus 0.4 times the previous error of (124 – 118.6)

Manual V Ch 2 or new AMCT / Cert Int Cash Man manual Ch 13
Question 10 
You have attempted to forecast the cash position for your group’s major business, which has annual revenue of £375M.  You have used sophisticated modelling techniques to determine whether there will be a borrowing requirement in three month’s time.  The result of this is that you expect a cash surplus of £147,712.  If you expect rates to fall significantly during the three months between now and the cash becoming available, what would you do?

(a) fix the deposit rate now using an interest rate option for £150,000

(b) fix the rate now using a forward contract for £150,000

(c) fix the rate now using a forward rate agreement for £150,000

(d) nothing

(e) don’t know

Answer 

The right answer is (d) nothing as the forecast is projecting what is effectively a cash neutral position.

For a business with a turnover of £375M, even with the most sophisticated techniques, a three month forecast predicting a surplus equivalent to 0.1% of revenue is really predicting cash neutrality.

Answer (a) could be right if there were more confidence in the forecast.

Answers (b) and (c) would only be right if there was a high degree of confidence in the forecast accuracy.
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